What is a key objective to performing continuous replication?

A Awoid performing data archiving.
B. Reduce the RPO to near-zero.

C. Reduce the deduplication ratio.
D. Awoid performing data backups.

Answer: B

Which Dell EMC product creates a server and |P-based SAN from direct-attached server storage to deliver flexible and scalable performance and capacity on demand?
A, PowerMax
B. VxFlex OS5
C. VIiPR Controller
D. XtremlO

Answer: B

What is an accurate statement about stretched VLANS?

A. Reduces network bandwidth requirements during VM migration across sites.
Requires a change in the VMs' IP addresses to match the addressing scheme at the other sites.

Enables automatic modification of VLAM addresses during VM migration across sites.
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Supports migration of WVMs across sites without the need to change their network configurations.

Answer: A



What is a key advantage of implementing FCIP?

A

Provides a disaster recovery solution by replicating data across data centers.

B. Enables migration of VMs across data centers by using existing FC networks.
C.
D

Ensures lossless transmission of FC trafic across data centers over Ethernat.

. Provides a dedicated network for transmission of storage traffic within a data center.

Answer: A

What accurately describes the scale-out storage architecture?

A

Scales the capacity only within a single storage system.

B. Provides a fixed capacity ceiling that limits scalability beyond a storage system.
C.
D

. Restricts scalability to the limits of the storage controllers.

Provides the capability to maximize its capacity by adding nodes to the cluster.

Answer: C



